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f(gij(x, ẋ)ẋiẋj)dt# ��� f !f ′ �= 0"

���1�� ��77����$����2�. 7���$�.# ��&�/��. �� ����������� ����.#
gij ��2+������ 2����/������ ���6���# ẋ(t) = dx(t)/dt 
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��'(��)�  ���"* �����6�/����.# �����$�����. 6���/�# ��2����� +��8
���������# 7���&����� +����������� 
+,-./012* fQ[_QTXGT# yUSXUNUOX[NUY RS[\YQ^# zXQ^UNNXUN TRUGQ# �XNTYQS
TRUGQ 

3� ���4�$%�

����j-���. 9���$������ 2���2���� 
����� � ,����&&� � +��(2� � � '��?8
��$� � <FI=� +������& 6���/�A �� 6������� +����0����� ��6�����( �����j# +��0�8
�.-�j /���6 ������ ��� ��/�� � �?&���j-�j ��2 ��������2# /�� ���� ��# ������.8
j-�. L�� ��/��# �2��� 2��(9�j �&���# ��1�&� ��.��. �����. ����# +��0��.-�.
/���6 �� 1� ��/�� � �&���j-�2 <FIC ���� �� ���?-��� � �?-�0 ����1���.0
'��?��$� �� ��9����# ��&j/�. �2��& � ����6���&(���� 

����2 �?��6�2# <FIC� ���� �/����( ����2 ��1����. �����6�/����0 &����# 0��.
+����. +�?&���$�. � ��0 +�.��&��( � <=DC� � +�����&�1�� �/����� 
 ,����&&�
n '������� J�&���# @>>8&���.. �����-��� ��1����. �������� ��2�/����. � L��2
���� 

���������� ��	 ��

����� 
������ ��� ����������� 	 ��� ����������  �!"��# $�"�%&�	�	�

EI



F> �� �����	 �� ��

�����

��

k���/� ,����&&� � �����6�/����� � 6���/� ��&�&�. � ?��0����0���� !������
������9��� �+����"# ������j +����2 ����� ��9�& 
 ,����&&�# n ��� 6���/�# �6
������0 ����&��( �����$������ ��/��&���� 

��9���� 6���/� ,����&&�# �� � ����6�� ?�&�� 9������ +��������� � � ���2���0
�����2����� 2���2����� ?�&� �7��2�&������� �&. ��2�����0 � � �+����&����2
�2��&� ���1� +�����8��2�����0 � 7���&�����0 +���������� l<n=m 

� �����.-�� ��?��� +���1�2 ���� ���������� �������� �����6�/����0 &���� �
��2�����0 � 7���&�����0 +�����������0 ��.6����� � ������ �����$������ 6���8
/��# ������j ��+�2��2 � �&���j-�2 +������7� 
��&�������. ������. &���&(��
� �&���� �������/�� �&����0 7���$�� 

5� �"�%"E%�$$"; D"4"("

����2����2 n82����� 2�����?��6�� Mn ������/�2�. ����2�������2 ������8
��� ������������ �����������# ���������� � �����2� ��������� x1, x2, . . . , xn ��8
+�2��2 ��6�&(���� � �?�6��/���.# ������� ����j��. ����2�������2�� �����$�8
����� 6���/� l<n<>m 

����( γ n ����&.���. �����.# 6������. ��������.2� xi = xi(t)# � A � B n ���
��/�� �� ���# �����������j-�� 6��/���.2 +���2���� to � t1 ��� ������� i, j, . . .
# ��/���. � L���� 2����# �62��.j��. �� < �� n 

	�������. xi = xi + ε ωi(x1, x2, . . . , xn)# ��� ε n ?������/�� 2�&�. ��&�/���#
� ωi(x) n ����� 7���$��# /�� ωi(A) = ωi(B) = 0# �+����&.j� ����j �����j γ#
?&�6��j � γ � +��0��.-�j /���6 �� 1� ��/�� A � B 

����2����2 �������&

I(γ) =
∫ t1

to
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√
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ẋk − ∂F (x, ẋ)
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gij ẋ
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f(e gij(x, ẋ)ẋiẋj ) dt , (7)
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�+����&����. �� �������2 2��1����� D ⊂ R# +��/�2 f ′(τ) �= 0 �&. ���0 6��/����
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ẍh + 2Gh(x, ẋ) = − d
dt

(ln |f ′(e gαβ ẋ
αẋβ)|) ẋh. (8)
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